Name: Date:
UNIT 3 QUIZ REVIEW
UNIT 3: TRIANGLE CONGRUENCY QUIZ REVIEW
1. 2. Given: AB=DC and /A= ./D

In the accompanying diagram, AB and CD
intersect at E, E is the midpoint of AB, and

ZA = 2R
‘i} jCI
E
D

Which statement can be used to prove

B

/ADE = /BCE
(1) ASA = ASA (3) S§S =S58
(2) HL = HL (4) SAS = SAS

Which of the following methods can be used to
prove that AABC = ADCB?

(1) Side-Angle-Side (SAS)
(2) Angle-Side-Angle (ASA)
(3) Side-Side-Side (SSS)

(4) There is insufficient information to determine if the
triangles are congruent.

3. Inthe diagram below of A AGE and AOLD,
LGAR = ZLOD and AF = Q0 To prove that
HMAGE and ACLD gre congruent by SAS, what

4. In the diagram below, AAEC = ABED.
Which statement is not always true?

other information is needed? . : D
“ . (1) Ac=BD
(1) GE=LiD _
L (2) cr=DE =
(2) 4G =01 c 5
(3) £EAC= /EBD
(3) £AGE = ~ QLD
& 6 D (4) LACE=/DBE
(4) £ARG = QDL
5. Which statements could be used to prove that 6. Inthe diagram below, AXYV = ATSV .
MABC and AA'B'C are congruent? Which statement can not be proven?
w X Y

(1) AB= A", BC' =B and s = 24’
(2) AB=A'B', FAd= 4" and 20 = 2"
(3) Ld= A" LB= LB and £C= £

(8) sAd= 4" AC=A"C, and B = B¢

(1) £xV¥=LTVS
(2) £Vv¥=LVUT

(3) xv =715

(4) ﬁ’;g’ S T u

7. The line segment BD is the median and altitude of
DABC. which of the following statements must be

false?
(1) BD bisects AC .
(2) ABDA s a right triangle.

(3) MDA =90.

(4) B is equidistant from A and C.

8. In AABCand ADEF, 4B @DE, &DA @DD.

In order to prove AABC = ADEF using ASA, we
need to prove that

(1) BB @®E

(2) £C=ZE
(3) BC =~ EF

(4) AC = DF




9.

(a) lonly

(b) 1l only

(c) ITand NI

(d) Ionly

L.

IL

In which triangles could you efficiently prove Al= A2 using the HL Theorem?

10. Write the method that is being illustrated in the following triangles to prove congruency.

Then, state if that is a valid method.

D T

iv.

C

A

11. Describe method AND the rigid motion(s) which make the two triangles congruent:

a. AABC= AWER

b. AABD = ACBD

c. ATHJ = ARJH

3 ABCA= ARCD (3. Y
4. EA=ED 4.7

E A
B B
R
R C
w T
A C
D J
12. Directions: Fill in the question marks in the proof below.

Given: BC = EC & AC = DC g o

Prove: BA= ED
atatem ents Feasotis i
1. EC = EC 1. gven

AC=DC
2 ZBCA= ARCD | 2 Vertica angles are congnaent. 4 B




13. Given: BD and AE bisect each other.

Prove: AABC = AEDC

STATEMENTS REASONS

(b) Describe the rigid motion(s) that would map one triangle onto the other.




14. Given: AD bisects BC at E, ABL %, DCLEC
Prove: AABE = ADCE

STATEMENT REASON

(b) Describe the rigid motion(s) that would map one triangle onto the other.




15. Given: VW L WX, ZY L YX, VW = ZY, Xis the midpoint of WY.
Prove: AVWX = AZYX

V VA

W X Y

STATEMENTS REASONS

(b) Describe the rigid motion(s) that would map one triangle onto the other.




